
https://www.geekcert.com/p2090-078.html
2024 Latest geekcert P2090-078 PDF and VCE dumps Download

 

 

 

P2090-078Q&As

IBM InfoSphere MDM Standard Edition Technical Mastery Test v1

Pass IBM P2090-078 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.geekcert.com/p2090-078.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by IBM Official
Exam Center

 

 

P2090-078 Practice Test | P2090-078 Study Guide | P2090-078 Braindumps                                1 / 3

https://www.geekcert.com/p2090-078.html
https://www.geekcert.com/p2090-078.html
https://www.geekcert.com/p2090-078.html


https://www.geekcert.com/p2090-078.html
2024 Latest geekcert P2090-078 PDF and VCE dumps Download

QUESTION 1

An "Attribute Type" can also be referred to as what? 

A. Segment 

B. AttrRecNo 

C. SegAttrNo 

D. AttrType 

Correct Answer: A 

 

QUESTION 2

What does an Algorithm setting of "Minimum Tokens = 2" mean to a Bucketing Group for a Name Attribute? 

A. The system will create at least 2 buckets for each Name 

B. Member searches will require a minimum of 2 Name criteria in order to return a result 

C. Members must have at least 2 Name tokens to be imported into the system 

D. Names must have a minimum of 2 characters in order to warrant creating a bucket 

Correct Answer: B 

 

QUESTION 3

Why does the Threshold Calculator need a set of sample matched pairs? 

A. To show how many tasks are in the Hub 

B. Because False Positives and False Negatives need to be purged from the database 

C. To show the hub how willing the customer is to trust the matching and linking process 

D. Sample pairs, when validated by the customer, show the calculator where False Positives and Negatives are 

Correct Answer: C 

 

QUESTION 4

Where are job results deposited after you \\'get job results\\' for Weight Generation? 

A. Under weights, in a folder named \\'final\\' 

B. Under weights, in a folder named \\'wgts\\' 
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C. Under weights, in a folder named after the entity type 

D. Under weights, in a folder named after your project 

Correct Answer: C 

 

QUESTION 5

What are the three main processes that the Algorithm controls? 

A. Standardization, Derivation, and Bulk Cross Match (BXM) 

B. Standardization, Bucketing, and Comparison 

C. Derivation, Bucketing, and Linking 

D. Comparison, Derivation, and Linking 

Correct Answer: B 
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